Name: Date:

Teacher: Class:

Multiplication/Division 520

= Why did they throw the elephants out of the public swimming
“ pool? Because they couldn't hold up their trunks.

Some have a remainder.

5.

1 2. 3. .
6)3,500 2)3,056 6)7,286 2)5,771 8)3,368

° 2,960 7 5,675 8 7,982 % 1,999 108,211
X 5 x 8 x 5 x 7 x 9

11. 12. 13. 14. 15.

4)8,307 7)6,132 3)3,752 3)6,805 5)5,267

6. 7501 ' 6613 ' 3,729 0 7153 2 7117
x 7 x 4 x 8 x 3 X 6

22. 23. 24. 25.

21.
2)6,901 7)2,118 4)4,041 7)6,577 6)6,421

261,445 27 5038 % 2,768 2 3175 30 6,925
X 3 X 4 X 4 X 2 x 3

31. 32. 33. 34.

35.
5)8,691 5)8,559 4)5,867 8)4,654 2)5,555

3%. 1578 37. 6,325 38. 8463 39. 2731 40. 2983
X 4 X 2 X 6 X 8 X 4

© Facilitators Ferriswheel Score:



1. 583 2. 1,528
6)3,500 2)3,056
R2 RO
6 2,960 7 5,675

x 5 x 8
14,800 45,400
1. 2,076 12 876
4)8,307 7)6,132
R3 RO
16. 7,501 7. 6,613

X 7 x 4
52,507 26,452
21. 3,450 22 302
2)6,901 7)2,118
R1 R4
% 1,445 2 5038
x 3 x 4
4,335 20,152
31. 1,738 32 1,711
5)8,691 5)8,559
R1 R4
%. 1,578 376,325
x 4 X 2
6,312 12,650

Answer Key Date:

Teacher: Class:

Multiplication/Division 520

=2 Why did they throw the elephants out of the public swimming

pool? Because they couldn't hold up their trunks.

Some have a remainder.

3. 1,214 4. 2,885 5. 421
6)7,286 2)5,771 8)3,368
R2 R1 RO
8 7,982 % 1,999 10 8211

x 5 x 7 x 9
39,910 13,993 73,899
13. 1,250 14 2,268 15 1,053
3)3,752 3)6,805 5)5,267
R2 R1 R2
8. 3,729 197,153 207117

x 8 x 3 X 6
29,832 21,459 42,702
23. 1,010 24 939 25, 1,070
4)4,041 7)6,577 6)6,421
R1 R4 R1
28. 2,768 29 3,175 30 6,925
x 4 X 2 x 5
11,072 6,350 34,625
3. 1,466 34 981 3. 2,777
4)5,867 8)4,654 2)5,555
R3 R6 R1
38 8,463 39 2,731 40. 2983
X 6 x 8 X 4
50,778 21,848 11,932

© Facilitators Ferriswheel

Score:



